Multiplication, Time and Area

Name: Da‘re:‘
1. 338 x 30 gives the same answer Hobeton 11:37 12:09 1:34 2:05
as: Manwell 11:52 12:24 1:49 2:20
Lukeville 12:23 12:55 2:20 2:51
O 378x28 O 32x330 Bannigan 1:03 1:35 3:00 3:31

O 676 x15 (O 694 x 14

. How much will it cost to carpet

this room? £
11m

6m Carpet: £88/ m2

. What is the 24 hour equivalent

. How many minutes till midnight?

22:34
O 86 min. O 96 min.
O 66 min. O 76 min.
. Area = 15m

- 4m

ém | 9m

O 114m? O 96m?
O  60m? O 72m?

10.

At what time does the 12:09 from
Hobeton reach Lukeville?

O 1:35 O
O 12:55 O

12:23
1:34

How long does it take the 1:34 to
travel from Hobeton to Bannigan?
O 1hr 26min. O 1hr 28min

O 1hr 34min. O 1hr 16min

The 11:37 from Hobeton is 16
minutes late. At what time should
it now reach Bannigan?

O 12:47 O 1:19

O 12:39 O 1:16
How many minutes from 00:06
till midday?

How much to tile a 112m? wall
with tiles costing £35/m’?

£
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